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1) What are the values of the currents shown? 4

I' < 7 I}t 7
R,z 400 N,= 3.0
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2) Find the value of R,. |2 IV
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T-=50aA
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3) What is the potential difference supplied by the power SOL(’rce??
Al
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L= 6040 Rz" .00,
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4) Find the values of V4, V, and R,. 80.0 v
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5) Find the value of Is.

6) Find the value of V,.
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7) Find the value of V, and V.
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8) What is the total resistance in this circuit?
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13) What is the value of the total current in this circuit and the power dissipated by R;?

__l___ (lu = 21 =
S0V = 6ol 2 2om

14) Find the values of the total current and |, as well as the total power used by the circuit.

2.0V

15) What are the values of Iy, I, and 15? I -7
3 .

120.0V —




